Directions (1-5): fAafof@a arol faffiea aul & wd I & afhar & Pol T
AT 31 hThAl & UTRA, S Uleplcdeh UGN & PHRUT g FTATA T FATATART BT
fgu ow, @ gecr &1 wRoh, TuEaRa cafeal & gew @ AfRer & gua & i
GRITT B

dlc: $© 3T I & IfG a8 HETF &, df 38 Ad A AR R & A

Percentage of .
) Ratio of male
Total population .
Years . ] to female in
population who shifted to .
shifted people
other places
2005 24500 - 3:2
2006 - 4004 _
2007 - 36940 7:5
2008 36400 45094 -
2009 - - 2. 1

QL. FfE 2005 F Pl 6400 ARATY 3T TUE W TAACGRA §S, aAl 2005 F I3

fopca gfard &eT g@dl SoTe TAATART §U?
(a) 60%

(b) 55%

(c) 65%

(d) 75%

(e) 50%
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Q2.3f¢ 2006 H TATATART ThT 1T <IThal T TEAT, 2005 H 37 TATAT W EATATTRT

gU ol & FEar @ 663% HUG 1 dl 2006 FH MR BN Pl SIAFEAT AT AT

(2005 #F FAATTRA GIUT & FEAT = 9600)
(a) 35,000

(b) 30,000

(c) 40,000

(d) 45,000

(e) 50,000
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Q3.3 2007 H 3T T W TAAIRA fhT 7T Afgen3it HR gout 1 dear & @

BT 3R 1440 U1, dl 2007 T AR P Pl TG AT HIfAT
(a) 24,000

(b) 26,000

(c) 28,800

(d) 22,000

(e) 20,400
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Q4.T1¢ 2008 @Y STEl W TAAIIRA §U Ul T &N, 38 a¥ F TAETIRT g
Afea3t & T=IT T 200% 31w A ar oAy FAR3T Hr FEar aa Hifaw, G av
2008 H 3T TAEN W TAATRA fopar r=am 2|

(a) 3600

(b) 4095

(c) 4240

(d) 4190

(e) 12285
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Q5. TG 2009 H TAAIART & ¢ AR I F&AT, 387 a¥ F PoT TAEATARA TS
gihdl T HEAT BT 100/3% &l AT 2009 HY A & Fol ST =T HITITI (2009
A TAATART $ 7S For Afgey 4320 )1

(a) 44600

(b) 48000
(c) 45000

(d) a9 a8 fopar a1 Fvar
() 3H @ PN ALl
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Directions (6-10): AFAToIf&d ug-ac 3R IR 3@ & 3egga hifaw iR Geafar@a
gl & 3R S|

fear e U are, o Thol A po FafdAt & gfara-ar fAaRer @ gufar §1 ar
I, TcAdh ThHol & oISdhl B T&AT Pl GATAT &




Total number of Students = 6000
Percentage of students

School F

5%

School B
9%

W Number of boys out of 5000 students in each schoal separately

School F

SchoolE

SchoolD

SchoolC

School B

Schoola

0 200 400 800 800 1000 1200 1400

Q6. TRl C T oISfehdl &l HEIT, Thel E I ISRl I HEAT TAT THo Db oISl l

TEIT Bl fAATRT ANeT FehedeAT TIM?
(a) 1,700

(b) 1,900

(c) 1,600

(d) 1,800

(e) 2,300
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Q7. ¥R CF TISehi DI HEAT AT TRl B & dsfhdl o1 fHemd Fol TE&AT & TRl E

& P faafar & F&ar & 3gua T e
(a) 45 : 97

(b) 43 : 95

(c) 52 :87

(d) 65 : 87

(e)73:43
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Q8. Tt Fb faanfdal & o F&Am 3N Tt EF oIehl I HE&AT & T &l 3

IEGGIKY

(a) 820

(b) 860

(c) 880

(d) 840

(e) 260
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Q9. FAFATIT@d # @ fhH Tohe! H, Tho Edh oIl &l F&AT & aeR Fol faardi &2
(a)A

(b) B

(oC

(d)D

(e) F
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Q10. et ADT FISfhal & HE&AT, Tl B faafdal &1 or T&aT BT 9T foheel

gfaed &

(a) 55

(b) 50

(c) 35

(d) 45

(e) 40
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Directions (11-15): fAefaifad arR ame 5auf & A rcr9r1-37err amdi Hr FEET ar

golfar &l
120
— 100 -~
=
1=
E
g B0 -
E
= 60 X
5
= my
40
E_ | Wrd
20 -
U .
1991 1952 1993 19594 1995
Years

ARON F qesl @1 AT @ U AT AT B

years | 1991 1992 1993 1994 1995
Villages
X 11:9 5:3 5:3 3:5 2:3
Y 3:5 2:3 8:7 3:7 1:1
Z 9:7 3:4 3:2 5:4 4:5

Q11.1992 3, X 3R YaTig & AT geul &1 HEAr &1 1995 aMd ZH Fol STAGEAT

T U T 7
(@)3:7

(b)7:9

(c)11:9

(d)9:7

(e) 13:15
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Q12. fAeafafaa & & ®la I afa, 37U FagEa # auf F AR FY gtdar 7
@y

(b) Z

(X

(d)X3RY

(e) 3WH T
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Q13. f&T 9w auf & afig ZzH gesl & po &, 58 G 9w auf 3 g XA el
ATEAT3N A T&IT BT JTHI fopaar ufaera &2

(2) 176 %

(b) 150 %

(c) 194 %

(d) 245 %

(e) 142 %
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Q14.1993 3R 1994 F @ aMal & Yol H HEA,3H a§ F g yH AfGnsit H
&1 ¥ fohaar ufaerd 31f¥« a1 & &2

(a) 135 % &H

(b) 141 % %

(c) 135 % 31/

(d) 141 % 3R

(e) 165 % 3ifa®w
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Q15. QX auf & giRIeT, afa X &1 Afgemait & 3iaa @& 3R g z&r e Faaear

& d= # IFAR AT Hriav|
(a) 63,100

(b) 82,500

(c) 65,600

(d) 70,000

(e) 46,300
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Solutions

S1. Ans.(c)



Total male population who shifted to other
places in 2005 = = X 6400 = 9600

-~ Total population shitfted to other
places in 2005 = 9600 + 6400 = 16000

16000
X 100
24500

Required percentage =

Sol, =65%

S2. Ans.(c)
No. of people who were shifted in 2006

—(1+2)X96DD ("652@-’—2)
= 3 ; 3% =

3
= 16000

~ Required answer = % X 100

Spl. =40000

S3. Ans.(a)
Sol.
Let total males and total females who were shifted to other places in 2007 was 7x and 5x
respectively.

S 7x-bx=1440

=x=720
TI0x12

36

Total population in 2007 = ® 100

= 24000

S4. Ans.(b)

Ratio of male to female who were shifted in 2008
= (200 + 100): 100

=3:1
: 1., 45
~ Required answer = = x — X 36400
4" 100
=4095
Sol.
S5. Ans.(d)
Sol.

Total no. of people who were shifted in 2009 to other places =300/100x4320
=12960
Here, we don’t know the percentage of shifted no. of people. So, answer cannot be found.

S6. Ans.(d)



Required No. of girls
26

29 _
= (=% 6,000 — Qﬂﬂ) + 600 + (ﬁ % 6,000 — 1,2m))

=3,900- 2,100 =1,800
Sol.

S7. Ans.(c)
Required Ratio

900+%~><5.DDD—400
= —_ =52:87
Sol. 2% 7e0

S8. Ans.(d)
Sol. Required difference = 1200 - 360 = 840

S9. Ans.(b)
No. of girls in School E= 1740 - 1200 = 540
Now

Sol. 340 = Total no. of students in school B

S10. Ans.(e)
. 720-500 "
Sol Required % = o < 100 % 40%
ol.
S11. Ans.(b)

Males in village X in 1992 : 80 x g = 50 thousand

Males in village Y in 1992 : 50 x § = 20 thousand
Total population in Village Z in 1995 = 90 thousand
Required Ratio = B=7:9

Sol. 20

S12. Ans.(c)
Sol. It is clearly visible from the graph that Population in village X decline continuously and
uniformly

S13. Ans.(a)



No of males in village Z over the years

= 2 3 3,5 2

—8(])-(164-?[}}(?4-12{})(5+9K9U‘+9X9ﬂ

=45+ 30+ 72 + 50 + 40 = 237 thousand

No. of females in village X over the years

=100 X =+ 80 X =+ 60 X =+ 2 X 40 += X 20

=454 30+ 22.54+ 25+ 12 = 134.5 thousand
237000

Sol Required Ratio = Toam00 © 100 = 176 % Approx

S14. Ans.(d)
MNo. of males in 1993

=60 X =+ 60 X .~ + 120 X = = 1415 thousand
No. of males in 1994

=40 X >+ 100 X -+ 90 X - = 95 thousand
Total males = 236.5 thousand

7
No. of females from Y in 1993 = 60 x s =28

7
No. of females from Y in 1994 = 100 = ﬁ =70

Difference = 236.5 - 98 = 138.5 thousand.

Required% = 1382 % 100 = 141.39% more
Sol. KL

Total = 98

S15. Ans.(a)

No. of females in village X over the years

= 2 3 S 2
=100X - +80 X _+60X_+_xX40+_X20
=45+ 30+ 22.5 + 25 + 12 = 134.5 thousand

Average No. of female in X over the years
= 134500 _ 56900

Average population of village Z over the years
:%[BD + 70 + 120 + 90 + 90]

450,000
= 5 = 90,000

Sol Required difference = 90,000 — 26,900 = 63,100



